Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - I/l « EXAMINATION - SUMMER 2016

Subject Code: 3312901 Date: 06-06-2016
Subject Name: Basic of Textile
Time: 02:30 AM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2HIl SlEURL Ulclall scllol WL
Give names of four natural fibres.

518 URL AR ARAREA $LBGR oll ollH UL

Draw the cross-section of wool and nylon fibres.

A el allA SIB0R oll SlA-As2UAt ENRL.

Give names of any four packages used in textile industry.
25URLBA BoSL HL AURLAL 518 URL AR WX oll ollH AL
Define Hank.

805 ofl caltuvaul .

Give the name of material feed and delivered from card and ring frame.
51§ e Bol 53U 1L (35 uad (BAc? HAlZlad oll ot UL,
Define Ginning.

(ol ofl catval w1,

State the objects of ring frame.

Aot HH Hellet oll A wrUA.

State the objects of warping.

clfoL otl Sl Ul

Define English count.

80A s1G2e(l cautuul W,

Give formula to convert Tex to Denier.

es el doflar Ml 3UidR sRalell Sletl 2.

© QDG NW O LUK AWWAHNL R
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Q.2 (@) Explain burning test for identifying Polyester and cotton fibre.
ys.? () WlReR U Sleet SlsoR o Aol M2 olo(lol 22 AHstall.

OR
(@ Explain chemical test for identifying Silk and Acetate fibre.

) Ales va A2e $180R ol Wamal Hie 3Hlse 22 Axtdl.
(b)  Give classification of textile fibres.
() 25ULBA $IBUR of cd(l50L AW
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OR
Write the effect of acids on Cotton and Wool fibres.

sleot Ul gt Lok UR WRlSs ofl R 3l &wa & A Al

Draw longitudinal and cross-section for cotton, silk and viscose rayon fibres.

sleat, les ol (S 2ol SLB0R oll Glell ol LSl BE €.

OR
Write short note on fibre length.

SR AU UR &5 ol AW,
Explain any one ginning machine with neat sketch.
Sl uRl As oflol Hallet 9 Ls(A €131 UHsA.

OR
Explain pre-ginning and post-ginning.

Yl-oo{lol wal Wre-9e{lot (A UHstal.

Write the objects of comber.
SLOR otl gl wRUCl

OR
Write the objects of draw frame.

QLB oll Sl Ll
Draw flow chart of spinning process for carded ring spun yarn.
5185 oL st 2ol ot Alo{lor NAX oll sl A €RL.

OR
Draw flow chart of spinning process for combed ring spun yarn.

sliots oL et 2ol il Ale{lot VA ol sl U ERL
Draw only the passage of material through carding machine.
stSlot Hallot 1t HERlac ol wa e2iadl 2usdl €L

OR
Draw the passage of material through hopper bale opener.

SR Act AueR Hollot 1L Hdldlaat ol wa ealadl augdl €12l
Write functions of drafting roller and flyer in speed frame.
s Hu L 9LsEloL AAR A SALRAR of sl AU

OR
Write functions of ring and traveler in ring frame.

Aot u 1L oL AR 2lAER of sl AmesAl

Draw the passage of material through winding machine.
agsslol Hellot 1 HElRlae ol wa elladl 2usdl €L

OR
Draw the passage of material through sizing machine.

AB¥L Hellet 1t 1dldlae o wa ealadl 2usdl €12l

Calculate English count (Ne) if length of the yarn is 3000 m and weight is
300 g.

8\ 2ol ol cedls 3000 m el closel 300 g dla Al BPALL 5162
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Calculate Tex and Denier if the length of the yarn is 2000 m and weight is
150 g.

%\ 2ol ofl dalle) 000 m Aal Aol TUO g Sl dl 254 el doflaR
L.

Explain briefly manufacturing process of wool.
get oll Geuteot Ylsaul &5 HL UM,

Give the flow chart of weaving process.

[Qcllot YR ol sA ué R

Explain function of shuttle and heald shaft in loom.
GH HL A AR &lEs WS of sl Al
Convert 40 Tex to English count.

¥0 25U o BA 5162 HL ¥Rdl.

Convert 64 Ne to Metric count.

s¥ Ne ol Adls s1Ge HL $RAl.
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